

مستلزمات مزج كيماوي نبيذة أساسي (SUP 98-2025-57)

- شركة القنوان للتجارة العامة .

#	National code	ITEM DESCRIPTION	UOM	QTY	Unite Price \$	Total Price \$
1	CHT-DE00-001	Gowns	pcs	132,050	\$1.20	\$158,327.95
2	CHT-DE00-002	N 95 face mask impregnated with Charcoal	pcs	73,220	\$1.53	\$111,733.72
3	CHT-DE00-004	Chemo Examination Gloves sterile size medium (7 1/2)	pcs	145,680	\$0.71	\$103,214.28
4	CHT-DE00-005	Chemo Examination Gloves sterile size medium (8 1/2)	pcs	125,320	\$0.71	\$88,789.22
5	CHT-DE00-006	Chemo Examination Gloves sterile size medium (9)	pcs	47,800	\$0.71	\$33,866.30
المجموع الكلي : فقط اربعمائة وخمسة وتسعون ألفاً وتسعمائة وواحد وثلاثون ألفاً وسبعة وأربعون مئتين لا غير						\$485,931.47

شركة الجنوة للتوريدات الطبية .

SN.	KIMIADA CODE	KIMADIA	Product Name	Quantity	Price per unit S	Total Price S
1-	CHT-DE00-001	Gowns	The personal protective equipment (PPE) consists of a polyethylene-coated gown featuring a solid front and back closures, along with knitted, tight-fitting wrist cuffs for enhanced protection. This product complies with relevant safety standards and carries CE certification, ensuring its conformity with EU health and safety requirements .With ISO certification FAD certification, not Sterilized . Sizes : S/M/L/XL/2XL/3XL/4XL/5XL.	132050	0.92	121486.00
2-	CHT-DE00-002	N 95 face mask impregnated with	N 95 face mask impregnated with Carbon ,Valved FFP2 ,	73220	0.87	63701.40

		charcoal	MODLE NO# P822VC			
3-	CHT-DE00-004	Chemo Examination Gloves sterile size medium (7 1/2)	TPC Latex Surgical Gloves Powder Free, Sterile,EN455 standard , 7 ½ , PPE TYPE , PPE Regulation (EU) , 2016/425,Type B EN10993 , Primary skin irritation , Dermal Sensitization ASSAY , Cytotoxicity , CHEMOTHRERPAY Drugs	145680	0.48	69926.40
4-	CHT-DE00-005	Chemo Examination Gloves sterile size Large (8 1/2)	TPC Latex Surgical Gloves Powder Free, Sterile,EN455 standard , 8 ½ . PPE TYPE , PPE Regulation (EU) , 2016/425,Type B EN10993 , Primary skin irritation , Dermal Sensitization ASSAY , Cytotoxicity , CHEMOTHRERPAY Drugs	125320	0.48	60153.60
5-	CHT-DE00-006	Chemo Examination Gloves sterile size Extra Large (9.0)	TPC Latex Surgical Gloves Powder Free, Sterile,EN455 standard , 9.0 . PPE TYPE , PPE Regulation (EU) , 2016/425,Type B EN10993 , Primary skin irritation , Dermal Sensitization ASSAY , Cytotoxicity , CHEMOTHRERPAY Drugs	47800	0.48	22944.0

احمد هاشم خضير
البياتري
٢٠٢٠/٩/١٤

Total Amount (CIP-BAGHDAD)		338211.40
Total Amount	Nine hundred sixty thousand U.S DOLLARS ONLY	

.GREEN FORREST -

#	الرمز الوطني	وصف المادة	وحدة القياس	QTY	سعر الوحدة	المجموع
1	CHT-DE00-001	Gowns	pcs	132,050	\$1.40	\$184,870.00
2	CHT-DE00-002	N 95 face mask impregnated with Charcoal	pcs	73,220	\$1.60	\$117,152.00
3	CHT-DE00-004	Chemo Examination Gloves sterile size medium (7 1/2)	pcs	145,680	\$0.80	\$116,544.00
4	CHT-DE00-005	Chemo Examination Gloves sterile size medium (8 1/2)	pcs	125,320	\$0.80	\$100,256.00
5	CHT-DE00-006	Chemo Examination Gloves sterile size medium (9)	pcs	47,800	\$0.80	\$38,240.00
Total : Five Hundred and Fifty Seven Thousands and Sixty Two US Dollars						\$557,062.00

